3.3.10 - Point-Slope form

Point-Slope
form

y - y1= m(x - x1)
m = SlopL

ordered pair = (’X 0 lé»
1 point pn2ht /ine

Example 1:

hne has a slope of
-3 and contains the

point (2 E\i})

Write the equation
of the line in point-
slope form.

Example 4:

Given the equation,

-6=-2(x-3)
l-f) ué v=m (DC %/)
What is the slope of the line?
What is an ordered pair on the
line?

Y - ¥i=

%%:—5(7@&\

m(X - X1)

slope —Z
ordered pi;r ( 5 @\

&,

Example 5:

Given the equation,

LA é.: (?xtlf)

What is the slope of the line§
What is an ordered pair on the
line?

{
slope:
P /

ordered pair:

CK”%S <E/O’q>

y - y1= m(x - xp)

4—-S=H(x-2)
A S = 7XD)

Example 2:

&’/
A line has a slope of 4
and contains the point
3, -5).
% 3,
Write the equation of
the line in point-slope
form.
Example 3:
A line has a slope of —}
and contains the point
(-1, -7).

Write the equation of
the line in point-slope
form.

Example 6:

Given the equation,

y+4=8xF2)

EE A =mEX -2
'What is the slope of the line?

'What is an ordered pair on the
line?

y - y1= m(x - xp)

YA7="z (><+D

slope: %
ordered pair: ( — 2 _ 4\
D)

Example 7:

Given the equation,
=-2(x + 3)
=05 202 2)
Whéﬂ 1&he slope o) th-><l )‘167

What is an ordered pair on the
line?

slope:Z
ordered pair: ( . 3 \ O>




